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CERTIFICATE OF COMPETENCY IN POWER 
DISTRIBUTION (CCPD) 

Term-End Examination 

00541 June, 2019 

OEE-002 : POWER DISTRIBUTION 

SYSTEM - BASICS 

Time : 3 hours 	 Maximum Marks : 70 

Note : This paper has two sections — Section A and 

Section B. Both these sections are compulsory. 

SECTION A 

1. Fill in the blanks by choosing the correct 
answers from the choices given below : 	15x1=15 

(rubber, steel, porcelain, current, temperature, 

conductor, breaker, hot spots, gas, risers, short 
circuit, frequency, maintenance, interlock, forced) 

(i) An 	is provided between isolator and 
earth switch. 

(ii) ABT is 	dependent. 

(iii) The basic grounding system is in the form of 
earth mat with 	 

(iv) In ACSR conductor, central core is of 
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(v) Earthing switches are provided at various 

locations to facilitate 	 

(vi) Large transformers require 	 oil 

cooling. 

(vii) Circuit breakers can interrupt large 

currents. 

(viii) Isolators cannot be operated unless 

is open. 

(ix) 	need to be detected in a substation 

during on-line inspection. 

(x) Disc insulator is made of 

(xi) The bus bar should be able to carry expected 

maximum load current without exceeding 

	limit. 

(xii) Panther is trade name of 	 

(xiii) Tong tester is used for measuring 	 

(xiv) Buchholz relay is 	operated relay. 

(xv)	gloves can be used while doing hot 

line maintenance. 
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2. Write True or False for the statements given 
below : 	 10x1.10 

(i) Electricity is often generated at 11 kV by 
generators. 

(ii) Secondary output current of a CT may be 
5 A. 

(iii) The faults on HT lines are far less compared 
to LT lines. 

(iv) An MRI is , an advanced electronic meter. 

(v) Control supply of a protection system is fed 
through AC system. 

(vi) For oil fire, foam type extinguishers are 
used. 

(vii) Transformers can change the frequency of 
electric supply. 

(viii) No earth switch can be closed unless the 
corresponding isolator is in open position. 

(ix) The minimum BDV of 220 kV transformer 
oil is .50 kV. 

(x) Multiplying factor of CT/PT can be a source 
of revenue loss. 
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3. Match the following given below in Column A 

with Column B : 

Column A 

5x1=5 

Column B 

(a) Polymer (i) Oil 

(b) PVC (ii) Maintenance 

(c) PTW (iii) 	Fault 

(d) BDV (iv) Cable 

(e) Relay (v) Insulator 
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SECTION B 

Answer any eight (8) questions from the 
following : 	 8x5=40 

4. 	Differentiate between preventive maintenance 
and breakdown maintenance. 

How is a fault interrupted by a Circuit 
Breaker ? 

6. What are the advantages and disadvantages 
of Radial feeder ? Where are these feeders 
used ? 

7. Differentiate between Power Cable and 
Control Cable. 

8. Describe the various measures that can be 

taken for reducing commercial losses in 
distribution system. 

9. What do you mean by trivector meter ? 

10. Why is underground cabling being opted for in 
urban areas ? What are its advantages ? 

11. Discuss various electrical protection methods 
of transformers. 

12. Why is cable jointing kit required ? 
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13. What are the advantages of HVDS ? 

14. List the tests which are carried out for 

transformer oil. 

15. List out the different activities involved in 

O&M distribution system. 
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